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L. xpasupporting 1Ny 1 (nawa 0o inferred from "ova” [v. 2])
a. S oppwinv. 2 extends to naw; consequences (inhering prohibition) of naxYn (v. 1) includes all but n>n
i Counterproposal: perhaps v. 1 is universal and v. 2 is limited to non-naw days?
ii. Block: nya — even on naw
1. Analysis (¥27): originally, Rin inferred nawa n%n via 1’p from nyax
a. 77 nyIR >0y (Y1¥n 102 may not perform nTay) and Ty >nav
i Then: non, which trumps ny % (we perform n%n on a ny7% 12’0 — see below) >naw
2. Then: Rin considered that naw is more severe than Ny (77an ,n13); or ~nYIx >nT1ayY; he is just unfit
a.  Therefore: Xan invoked nya — n%n does trump naw
II. x> permitting n%n on Ny ¥ mpn
a. 72w trumps N1, whether done ninra or later; only trumps v"v if on the 8t day per:
b.  Axr7721:v. 2 obligates n%'n even on nn3; v. 3 applies to all other parts of the body
i Counterproposal: perhaps v. 3 is universal and v. 2 only applies if no nyx
ii. Block: qwa (v. 2) — even if there is a nna
1. Analysis (¥37): originally, ®in inferred n1naa n%n viay’p from naw
a. 17 nYn 2>naw, which is more severe than ny1x
2. Then: Rin considered that ny7¥ is more severe than naw, as it trumps nTay, and Ny trumps naw
a.  Therefore: Xan invoked 7wa — n%n does trump ny x
c.  Note: this is a dispute of n'Rin (as to source of n2’n’s trumping nYIx)

i. 1wN? 77 infers n%n on nIna from "wa”
ii. 111212 7 infers via y'p (N9 >naw) and naw is more severe than Ny x

II. Rethinking "W’ "1’s source ("w1)
a.  Challenge: not needed — when doing n%n, he doesn’t intend to remove nyax (11901 1RV 127)
i »3x: needed for NTIN? 3 (MOR PIINN IRY 727)
ii. ~27 even needed for w™ - since it is a MW" oy, he agrees that it would be mox
1. Challenge: »ar agreed with X171 about v™’s concession in case of 17v" >0
2. Answer: indeed — after »ar heard it from ®17 (here), he accepted that w™ concedes in case of 1”8
b. Note: some read this entire development as being a comment on v. 3 (not in context of n%m)

i. N72273 "MmwYY” — but it is permitted to indirectly destroy ny ¥ "o (e.g. via a rope around the leg)
ii. Challenge: not needed — that is 11911 1RW 127 (then rest of XD as per above)

c.  Question: how would »aRr explain the need for "Wwa” according to w"?
i. Answer: case where he — or the father — intends to (also) remove the nina

1. However: if there is another person there (who doesn’t care about child’s n1nv) — he should do nn
a.  Per:5"av7 —in a case where n"> nmT nwY, if it is possible to maintain both, we do so
b.  But if: there is no one else there, the father does it, and nwy of n%n trumps the n"y of ny1x
IV. Revisiting earlier kn»11 — n%n only performed on 210 ov if it is 8" day
a.  Source (mprn): v. 4 — 27 "p1” means it is only burnt after 270 0y (2 only do nax9n needed for that day)
b.  Source (»aX): v. 5 — only n of that day brought
c.  Source (837): v. 6 — "Rn” excludes nn »Pwan; “1725” excludes mnra RHYY NP, in spite of 1
d. Source (»wx 37): v"v includes nwy (1N2w) and N (NIRON) and NYY (of NYn) doesn’t trump N NVY
i. Note: except for ninra n%n, which has extra 121 of “pyay”
V. Assessment of y™’s opinion — that only 11921 which could not be done before naw are naw nm<
a. 2 p’noo: ™ had same rule about noa j27p
b. 27 in both cases, he ruled in accord with y™
i. Justification: if we only learned limitation in re: n%9n — since there is no n13 (until he becomes 5113)
ii.  And:if we only learned limitation in re: noa — because there aren’t 13 min»a about noa (as there are for n%n)
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